RS - FELR— b (B 2019/07/25)
1. ROEILHBAE@T. [5 5] .

a + 3 4+ 2 — 3 = 0
a + 20 - ¢+ d= 2
204 + b 4+ ¢ 4+ 2d = -2 N
20 + 4 + ¢ — d = 1
21 -1
2.7 A= 1 2 2 ) OEFFERDEL, 5 K]
. 01 .1
&ﬁﬂAz( 11)a#éowﬁxm

(1) A OEEE X EXIET SIRHREEZEH (Vi()), Ve(A),...) DEIEERD &,
(2) PTYAP 7 Jordan FHER L B B IERIFTSE P 23R, TDL XD PIAP BEX &,
(3) ERE n LT A™ R RD &,

3 =2 2 :
4. 7 A=10 2 —1 | 95, 54 x2
0 1 4 '

(1) A OEEHE ) 2T BEREEZEM (Vi()),Ve(N),...) DEEERD &,
(2) P7LAP % Jordan B¥ER X R B IERITTH P 23R, TDOL XD PAP 3EA L,

0 0 —1 -3
- 1 =10 -1 -1 ,
5. 9] A= 00 1 0 5%, [5R x2]
00 1 1

(1) A DBGE A LS 2EHEEEE V(N), 1B0),...) OBEERD &,
(2) P~1AP ' Jordan 2 L BB ILAITHI P 23R, TDEED PIAP %A &,

111
(1) ADEHE X EHETREFEHOREZ KD &,
(2) T AT BSHFMTI L BBEZTHI T 2k, TOL IO TIAT 8 & 2 &,

7. 6 ROFH A DRSS (z - 1)2(z - 2)° ThBEF5, AD Jordan EEHOT
BelE % T ATHIRR &, [5 &)

8. N&C LOnEHRTFHEL, e C* &5, H2 LHBH>T N-lz #£0; No =0
THHLTEH, ZDLE x, N, Noz,.. Nz B—PMZTHE I L 2rRY, [5 K]

[5 R x 13 = 65 £l

11 1. ‘
6. ﬁiﬂA:(l 1 1) L5, FAx2

f 3, 4, 5, 6 TREBERMENBNTHIE (1), (2) RERAFTEIRLTE X1,



